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Day 1­ Homework Answers:
1. 13

2. 25

3. 40

4. 1901­1030 because fewer people had lower batting averages, so more people 
had higher batting averages.  This would make the overall average to be higher.

5. As the century progressed, the batting averages of the title winners in general 
decrease.  This may be due to...

6. 24%

7. 18%

8. 20%

9. 28%

10.  NO because word lengths don't really match up very well.  

or YES because the general shapes of the histograms are pretty similar.
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Stemplots

(aka: Stem and Leaf Plots)



Day 3 ­ Stemplots.notebook

3

October 15, 2018

Video Link:

http://www.learner.org/courses/againstallodds/unitpages/unit02.html

Complete the Video Guide as you watch

http://www.learner.org/courses/againstallodds/unitpages/unit02.html
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Video Guide Key
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